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Page 46  Exercise 2

1

) 2,4,6,8,10, 12, 14, 16, 18,20
b) 3,6,9, 12, 15, 18, 21, 24, 27, 30
©)6.12,18

46

a) 4,8, 12, 16,20, 24, 28, 32

b) 7, 14, 21, 28, 35, 42, 49, 56
c)28

a) 6, 12, 18, 24, 30

b) 9, 18, 27, 36, 45

) 18
a) 15 b) 14 c) 12
d)45 o 21 )72
a) 12 b) 40 c) 36
2)3,6,9,12,15 b) 4,8, 12, 16,20

©) 6,12, 18, 24,30 d) 12

a) Multiples of 4: 4, 8, 12, 16, 20, 24, 28, 32
Muttiples of 6: 6, 12, 18, 24, 30, 36, 42, 48
Multiples of 8: 8, 16, 24, 32, 40, 48, 56, 64

b)24

a) Multiples of 3: 3, 6, 9, 12, 15, 18, 21, 24
Multiples of 6: 6, 12, 18, 24, 30, 36, 42, 48
Multiples of 9: 9, 18, 27, 36, 45, 54, 63, 72

b) 18
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1 a)1,23,6 b)1,2,3,4,6,8,12,24
©1.236 a6
2 a)1,2,510 b)1,3,5,15 )5
3 a)1,234612 b)1525 o1
4 a)4 b)8 7
45 )6 f) 10
5 a)1 b1 o1
d)1 o1 91
6 a4 b2 ) 10
47 03 fs
7 21,248

b)1,2,4,7,14,28
©)1,2,3,4,6,9,12,18,36
41,24
€4

8 a)1,2,4,510,20
b)1,5,25
©)1,2,4,5,8,10, 20,40
d)5

9 a)Factorsof6:1,2,3,6

Factors of 18: 1,2, 3,6,9, 18
Factors of 36: 1, 2,3, 4, 6,9, 12, 18, 36

b) 6

103a) 1 b4 o1 d) 15
o)1 ne 93 h)o
i 4 i K7 )6

41912 grandchildren
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b) 48 = 24 x 3. The prime factors are the same
whichever factor tree you use.

5 a)27=3 b)30=2x3x5
€)63=3tx7 d)75=3x5
) 99=32x 11 f) 110=2x5x11
6 2)40=2"x5 b)56=2:x7
) 64=20 d)81=3¢

€) 108=2x3° f) 120=2'x3x5
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9 a)12 b) 30 ) 30
d) 30 €) 40 f) 36
10 a) Week 8, 16, 24, 32, 36, 40, 44, 48
b) Week 12, 24, 36, 48
©) Week 24
11 35days
12 30 children
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3 Prime Number:

Page52 Exercise 1
1 a) Factors of 30: 1, 2, 3, 5, 6, 10, 15, 30
Factors of 31: 1, 31
Factors of 32: 1,2, 4,8, 16, 32
b) 31 is a prime number as its only factors are
itself and 1.
2 a)45
b) 45=5 x 9, s0 itis not prime (it has factors other than
itself and 1).
3 a)21,25and27
b)21=3x7,25=5x5and 27 =3 x 9 — they all have
factors other than themselves and 1, so are not

prime.
7,23,53,59

a) 11,13, 17,19 b) 31,37

a) 67 b) 41,43, 47

E.g. 42 =6 x 7, so it has factors other than itself and 1

The only factors of 41 are 1 and 41, so it is prime.

No, 51 is not prime, as 51 = 3 x 17 — so it has factors

other than itself and 1.

10 71,73,79

11 The first four numbers end in an even number, so they
will all have a factor of 2, which means they are not
prime. The last six numbers end in 5 or 0, so they will
all have a factor of 5, which means they are not prime.

12 a) Eg.5and 11

b) E.g. 7 and 29

c) E.g. 2+ 3 =5, which is odd

©w oo
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7 a)20=2"x5 b)32=2°

) 44=22x11 d)54=2x3°

€ 72=22x3 f) 88=22x 11
) 124=22x31 h) 144.= 2 x 3¢
i) 225=3x52

8 a)96=2"x3
b) 1440=2"x 3 x5
9 2)210=2x3x5x7

b)70=2x5x%7
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iii)22=2 % 11 v)35=5x%7
2 a)4=2x2=2 b)10=2x5 €)26=2x13

d)34=2x17 e)55=5x1 f) 65=5x13
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b)i) 28=22x7 ii)45=32x5

iii)36 = 22 x 32 V)80 =2¢x5




